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A - B - SA(SA) - N - BES Off &4 I8N BlunsZ
SR e 10,891,155 11,066,626 A175,471
= 319,218 315,268 3,950
z 527,826 527,826 0
2l 2,571,966 2,529,883 42,083
< 1,174,687 1,140,606 34,081
i 6,297,458 6,553,043 N255,585
220012 248 & ALSTAMHIA 9,477,436 9,685,852 N208,416
= 319,218 315,268 3,950
= 527,826 527,826 0
2l 2,571,966 2,529,883 42,083
< 1,174,687 1,140,606 34,081
= 4,833,739 5,172,269 288,530
SAAZ NHIA X 771,408 799,764 128,35
z 271,036 271,036 0
2l 51,050 51,050 0
= 88,010 88,010 0
= 361,312 389,668 128,356
SHoA2HE L MHIADIB 2= 151,108 155,508 A4,400
207 AR 26,400 30,000 23,600
01 A S| 26,400 30,000 3,600
2aa 018 dF J1=" 29 26,400 30,000 3,600
307 e12+old 2,200 3,000 800
01 27l 2,200 3,000 800
OLBEAM Z2Xg &5 7l 2,200 3,000 800
BHOZAIE A 91,578 2,750 A1172
201 Let=Ehl 26,578 27,750 A172
01 AtR2t2|HI 26,578 27,750 VAN I 1/
OF24 A & I 89
73,280 x 1B 4L 447 12,898 14,070 A1172
SHEEAXA A5 399,773 406,556 NB,783
= 271,036 271,036 0
= 67,760 67,760 0
= 60,977 67,760 16,783
401 AIEHIL 20| 196,556 196,556 0
z 131,036 131,036 0
& 32,760 32,760 0
= 32,760 32,760 0
01 Al&HI 193,578 191,856 1,722
OOt AR &~ HE 138,424 137,324 1,100
z R,282 91,549 733
< 23,071 22,888 183
i 23,071 22,887 184
OOt EAHAE A 2+ 55,154 54,532 622
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fas 36,768 36,354 414
= 9,13 9,089 104
i 9,193 9,089 104
02 Zell 2,978 3,185 N207
OUDE AR & HE 2,031 2,120 A89
= 1,354 1,413 A59
< 338 353 A15
= 339 34 A15
OOHREAXZ A IHE 047 1,065 A118
= 632 710 NT8
< 158 178 A0
= 157 177 A0
03 AIZ=CHYI 0 1,515 A1,515
OUDIE AR & HE S 0 1,011 A1,011
= 0 674 NB74
< 0 168 168
= 0 169 A169
OOHREAXZ A IHE 0 504 504
= 0 336 336
< 0 84 L84
= 0 < N84
405 THaHE S| 203,217 210,000 NB,783
= 140,000 140,000 0
< 35,000 35,000 0
= 28,217 35,000 16,783
01 MM =S FSHI 203,217 210,000 16,783
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& 35,000 35,000 0
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SERABAIISELAY 0 16,000 16,000
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TEREEIEE 1,550 3,285 A1,73
OMHAMEDS HOIX 24
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OaBlAMz W] ANE
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NSAEEAI| g1 N 62,600 62,600 0
p 3,390 1,907 1,483
= 1,017 572 445
= 58,193 60, 121 A1,928
206 THEH 3,600 3,600 0
| 1,040 707 3%
= 312 212 100
= 2,248 2,681 A433
01 THZH 3,600 3,600 0
ONSHEEAI| SLB(HE, Lol S)
¢ 416,000 %5LH 2,080 1,414 666
I 1,040 707 3%
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2 728 495 233
ONSHEEAI| SLBE(HE, HIERl S)
2el(281 FIHE) 1,520 2,186 666
405 THAHF =8| 59,000 59,000 0
p 2,350 1,200 1,150
= 705 360 345
e 55,945 57,440 21,495
01 KAt USEHSH| 59,000 59,000 0
ONsaEE2| Xl
2,350,000 2L} 4,700 2,400 2,300
p 2,350 1,200 1,150
= 705 360 345
2 1,645 840 805
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54,300,000 * 14! 54,300 56,600 22,300
2EHAL o=l XA 0 30,000 230,000
307 212t01 & 0 30,000 230,000
01 =22+ 2| 0 30,000 230,000
OZetxelz I XI& 0 30,000 230,000
FHUX S84 212 K& 374,600 420,000 A45,400
| 374,600 420,000 245,400
307 212t01 & 374,600 420,000 A45,400
| 374,600 420,000 245,400
02 QIZHALAIHE X 374,600 420,000 245,400
OF X 24 29712 X2 (2MH2) 374,600 420,000 A45,400
| 374,600 420,000 A45,400
Stk A 015 Zdl XA 20,000 70,160 250,160
301 LEtE2NF 20,000 70,160 250,160
03 AISI 2 & =6l = (KL TH) 20,000 70,160 250,160
OY¥EdA 0I5 ZHl XA
170,403 1174 20,000 70,160 250,160
=4 otMae| XIE AMY 4,900 0 4,900
= 2,450 0 2,450
L= 686 0 686
ik 1,764 0 1,764
402 QIZ2HRHE01H 4,900 0 4,900
= 2,450 0 2,450
= 686 0 686
i 1,764 0 1,764
02 QI THEAIE 2R (0IMTHE) 4,900 0 4,900
O==4 CCIV dXldls8 XI& 4,900 0 4,900
= 2,450 0 2,450
= 686 0 686
= 1,764 0 1,764
TNOE SSHX 8438 N2 9,300 0 9,300
L= 2,790 0 2,790
ik 6,510 0 6,510
301 LetEAEZ 1,500 0 1,500
= 450 0 450
= 1,050 0 1,050
11 HALAHIXIE 3 1,500 0 1,500
Ot HAMENS A 2HA
2,500& 80«33l 600 0 600
= 180 180
= 420 420
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300,0002!*124+33] 900 0 900
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405 XHAHE S| 7,800 0 7,800
< 2,340 0 2,340
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01 AL S5 =y 7,800 0 7,800
OXSARE2I| ARSI (30) 7,800 0 7,800
= 2,340 0 2,340
= 5,460 0 5,460
2oL 2,284,870 2,429,399 A 144,529
= 237,943 237,943 0
p] 599,251 599,251 0
= 120,146 106,213 13,933
2 1,307,530 1,485,992 A 158,462
FHOUAS MIYEHE A 43,074 42,135 939
< 12,922 12,641 281
2 30, 152 29,494 658
307 QI2HOIH 43,074 42,135 939
= 12,922 12,641 281
= 30, 152 29,494 658
NEEEEET 43,074 42,135 939
OFAHE QIZ20K} Ol LTS (7642) 8,174 7,235 939
= 2,452 2,171 281
= 5,722 5,064 658
MU EES S (XHH) 435,682 586,480 A150,798
201 LBr2oH| 8,330 8,440 AT10
01 At 22|l 5,830 5,940 A110
O=IHYHE M2 90 200 AT10
202 O1H| 932 1,920 1988
01 =WOdbI 932 1,920 988
OXZE Ws Kbl % 720 AB28
OUURS SIS =& Of|
20,0002 %32 % 14 840 1,200 360
307 QI2H0IH 426,420 576, 120 149,700
NEEEEET 426,420 576,120 A 149,700
ORE HYES w7 273,520 423,220 A 149,700
— CHAL T &I (160A10] &
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— 0P 20t2 (304 015t
70,0002 +50% 3,500 18,200 A14,700
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201 Lete | 10,300 11,380 A 1,080
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ozggue 8 s S M=
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301 L2 3,822 4,822 1,000
11 #AFAHIXIR S 3,822 4,822 A 1,000
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02 L HAMAIHB X 34,9% 34,99 0
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TotShaol MYl X2 4,500 4,500 0
= 2,250 2,250 0
[ 2,250 900 1,350
2 0 1,350 A 1,350
301 LBtEAZ 4,500 4,500 0
= 2,250 2,250 0
(= 2,250 900 1,350
2 0 1,350 A 1,350
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p 13,620 13,620 0
2 3,313 29,763 4,550
101 21218 12,611 38,061 4,550
p 13,620 13,620 0
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REEEIESPTESEE IR 42,611 38,061 4,550
OHZEE 22| 21218/(12) 27,940 27,240 700
| 13,620 13,620 0
2 14,320 13,620 700
LR 3,088 2,100 988
ON=SY 780 480 300
OAIZtel2R4Y 2,158 1,970 183
OL-ERN" 2,09 420 1,676
OYE S| 2,794 2,505 289
OoIRELY 1,365 946 409
ZEH0IHA HIREE 6,010 0 6,010
= 1,803 0 1,808
2 4,207 0 4,207
307 Q12H0IH 6,010 0 6,010
= 1,803 0 1,803
2 4,207 0 4,207
NEEEEETT 6,010 0 6,010
OREIHIOIRIA TS 6,010 0 6,010
= 1,803 0 1,803
2 4,207 0 4,207
=T 473,590 487,122 A13,532
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= 2,674 2,674 0
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01 S 7EHl 10,000 40,500 30,500
OHAYAR HALE F&
350,000& *20set 7,000 10,500 23,500
OIS 485 7Y 30,0002 *100H 3,000 30,000 A27,000
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01 AL =S F=HI 0 1,400 A1,400
OdgEES A HAHDI(10H) 0 1,400 A 1,400
L= 361,832 338,984 22,848
101 1A 31,838 37,590 N, 752
M IRtHMZZ2S e 31,838 37,590 N5, 752
OodtHl g9H4= 30,160 31,002 A9R
— Il 76,9603 2 194 29,861 30,784 N923
—tEEs 29,861,000& * 1% 29 308 A9
OZZLHY LH4AS 1,678 6,498 N4,820
— 2| 76,9603 1H*102x12 770 5,542 N4 TT2
—MNEEE 770,000 * 1% 8 56 N8
201 B2l 22,450 23,490 A1,040
01 AFR2telHl 13,250 14,290 A 1,040
Ogoge =8 gl
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206 M=Hl 288,968 258,824 30, 144
01 M=Hl 283,968 258,824 30, 144
Oty N LAAZ(A4SH) 237,384 207,240 30,144
—=22 40,0002 *1 £ x314JH 53] 62,800 50,240 12,560
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—=H 8,000& *15+314 1 73] 17,584 12,560 5,024
405 RHaks S| 15,456 15,960 504
01 AL =S F = 15,456 15,960 A504
OFUg ASJI(S - H Z8) 7,746 8,250 AB04
SRS LS SclBA 16,820 17,420 2600
201 ZBt=Ehl 4,200 4,800 AB00
01 AlR2telHl 2,400 3,000 2600
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DZLHY BAF &R ZAH ZAl ALY 1,500 0 1,500
= 1,500 0 1,500
307 212+01& 1,500 0 1,500
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01 222 =H 1,500 0 1,500
OZDZ2LH9 L& Xt ZAL 2FAl XA
300,000 *50H 2 1,500 0 1,500
= 1,500 0 1,500
LEEAAMY 859,923 869,463 29,540
s 256,790 256,790 0
) 36,2% 36,2% 0
< 63,512 63,512 0
= 503,325 512,865 29,540
OlsE2d4 29 72,600 74,600 £2,000
301 LEEEZ 41,000 43,000 £2,000
11 SAREIXES 41,000 43,000 2,000
OHUECSHHAZE ZOAKIAL =&
50,0002 4 x1108] 22,000 24,000 A2,000
prdEE 2el 25,260 28,380 23,120
201 LBl 0 3,120 23,120
01 At22t2l] 0 3,120 23,120
Odlrg2de olgatel =208 oAt
+=22 0 3,120 23,120
gAY eI 384,073 388,493 24,420
= 123,614 123,614 0
[ 24,723 24,723 0
i 235,736 240,156 24,420
101 QI24H| 268,6% 267,1% 1,500
= 94,227 9,227 0
< 18,846 18,846 0
= 185,623 154,123 1,500
03 SR (FIH )22 UHE 4 268,6% 267,1% 1,500
Otrad 93,300 x8E ~ 12 8,966 7,466 1,500
201 el 19,545 30,945 A11,400
= 6,533 6.533 0
< 1,306 1,306 0
= 11,706 23,106 211,400
01 At22t2l] 19,545 26,745 27,200
OgExtg x| 900,000 *4IH 2 3,600 10,800 27,200
2 352484l 0 4,200 24,200
ONEZold HESH PC Sl 0 4,200 24,200
202 Ot 13,440 11,760 1,680
= 5,880 5,880 0
[ 1,176 1,176 0
= 6,334 4,704 1,680
01 =LHoi 13,440 11,760 1,680
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= 5,880 5,880 0
= 1,176 1,176 0
2 6,384 4,704 1,680
UESEETEEE 50,392 46,592 3,800
= 8,974 8,974 0
= 1,79 1,79 0
2 39,623 3,823 3,800
0 DR (LI 22X BHELLS S 50,392 46,592 3,800
om0l AN
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= 8,974 8,974 0
= 1,79 1,79 0
2 0,979 7,179 3,800
IS AS S B AL ST A 692,542 722,288 £29,746
| 35,33 35,33 0
= 65,067 65,067 0
=z 302, 140 331,886 £29,746
NSAE SEALSTMS X2 202,458 230,204 £29,746
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< 16,059 16,059 0
2 106, 106 135,862 £29,746
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OATMSAHAIY 29 AZ (A S)
2,500 680 »22 3,400 3,000 400
Il 1,700 1,500 200
5 340 300 40
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